SR TELRE

(737 MR

SAFETY LOCK ELC (Bracket installation type)

THRWEEL =iz, T o

=0

MakE FeibREh y 0y ) RO THRESIE] 2 & < Biis <

AMEE 2 22T
k=125
iz e

B TR BB THREL TEIN,

AR P EIREE (T 5 7y FIUED L BREV T S Ay B o
RIL270%ry FERAETHEI MM TSN, RTLRT
l:lb“y r ORISR ZL 2B L T vy v ¥ —Z2FlhS

EETY,

To use thls product in safety, be sure to read the catalogue of “SAFETY
LOCK ELC” and * Instructlon manual” before use.
Be sure to check the “Warning” and “Caution” in particular.

SAFETY LOCK ELC (Bracket installation type) is the device which is installed
so as to engage with drum sprocket set on drive side bracket, and stop a
shutter when it detected a suddenly changed rotation.

ELC-80Y

SHINSEI
ELC-402 U —X
ELC-50>Y —X
ELC-60>Y —X
)

2\‘

ELC-40-BTL ELC-60-BTR ELC-80-BTR
ELC-50-BTL
m 2 ELC-40-BCR(L) ELC-50-BCR (L) o o
Model ELC-40-BTR (L) ELC-50-BTR (L) ELC-60-BTR (L) ELC-80-BTR (L)
F2aning s #40-T50 | #40-T60 | #40-T50 | #40-T60 |#50-T42 |#50-T52|  #60-T50 #80-T48
£ 8 [ & % ~ . . . ~ . . .
e TR 23~26 28~31 23~26 | 28~31 27~30 | 22~24 16~18 14~16
BARY vy y_ﬁ.i 209(4B) | 250(4B) | 258(4B) | 310(4B) | 400(5B) | 500(5B) 700(6B) 900(8B)
Max.load of shutter (Drum size)  (kg)
EWMRSALMILY
Tl e bengars (N+m) 137 164 169 204 313 391 635 1042
s ULC-12G ULC-25G
@ A OB M # ULC-10G ULC-12GSC ULC-25GSC ULA-50G2 ULA-75G
Applicable operator ULC-12GSCR ULC-25GSCR
Sy A — . 45L1F 6LLF 6LLTF
A/Y /f " Eﬁﬁﬁﬁf% (105 r.p.m) (8.2 r.p.m) (8.8 r.p.m)
il diviier s q o Less than 4.5 (10.5 r.p.m) Less than 6 (8.2 r.p.m) | Less than 6 (8.8 r.p.m)
m/min)
20 T (= kB B 150LL T (FBR» 5500mma &I T)
Device stop position (mm) Less than 150 (measured in the position of 500mm from the lower-limit.)
4 = =
= Prolajct weight (kg) 15 15 35 65
B A EBBTELEBCREEBFIHYET,
BARBORIEBFRZ. LEIEBFRAEZRLET. CEXOBEIBFEHERLTILS,
2.EBMESAMVIBRR vy —REBLRAS Y bEE20mmEREEICHEE LASEEERLET,
3. AR TRLEEBREHOERT S5y FLUSMNIERTEE A
4 {ERRE: ARIRE-15C~+40°C Ok - #EREOA N &) AREEESS%RHLT
5. THAME: 1500068 GRED > v v & —BB L. v v —D2RE T ICLVEBDEBRI L BS R ZBEOXBRPLETT.
Remarks: 1. In SAFETY LOCK ELC there are two kinds setting side for right-hand and left-hand.

FNFANNY

o

R and L in the end of model show right-hand and left-hand for each setting.
When ordering, please specify the required installation.
. Winding drum torque shows the reference value calculated based on maximum shutter load and 20mm of slat depth.
SAFETY LOCK ELC is not applicable for any other bracket except the specified one.
. Usage environment: Ambient temperature;

Ambient humidity less than 85%RH

-15°C to +40°C (without freezing-dew condensation)

. Durability: 15,000 open/close (in normal shutter). This is subject to the conditions that the device must be replaced when it worked by suddenly
fallen shutter.




724y MAA - 1R ER R BAH

BRACKET PACKAGE - PACKAGE CONTENTS

CBMTERIEEBICE, BROTSTy MRAKSHYEYS,
CERICABBBIMICE ST, FRT Iy MASL U BEEL 23,

X1 BEOT STy MIGALRAMRHARBYVETOTHIEHADT S
2. MR ET STy MIHBIFTRENOFHMICDNTIE, HRAEDOAS

Ty
m]

-There are the specified bracket packages for SAFETY LOCK ELC.
Select a bracket package to suit the operator from the following kinds.

% 1. The device must be used with the following bracket package as the usual bracket package is different in the contents of parts.

¥ 2. As respects the detailed specification of operator and bracket, refer to the operator catalogue.

BK « BC - BT-ELC ¢

(B M k3R A

( FOR SAFETY LOCK ELC SERIES )

BEBFEN SN,

A
TEBRLEE,

ELCZ U —XHIE)

757y MEG 7o @A
;__1:.2 it Bracket package Flange package iﬁjm Eﬁﬁﬁ#&
S 2 =)= I:7A El_? SOy Applicabl
Model 727y bk BTELERE 270wk | Fr—y |7 777 v \oolicable
Bracket SAFETY LOCK ELC Drum sprocket | Roller chain Flange unit
BK-10S-ELC-4 (%)
BK-10SELC . Ri
BC-10S£LC | L CETETE 7, #40-72L
Standard 'E (%) -Right(Left) #41-T50 @UB 206 : 1@
BK-TOMELC| -50 |-Risht(Left) |BKTOMELCEOE(E) | DEL C-40-BCR(L) BABAIL b
[Z#] @BAFARIL ~ #40-74L AR
BC-10M-ELC | [1R BC-10MELC-50-% (%) BTNV T (3-M10X 35)
Standard -Right(Left) NATTRIL & PW,SW+4st
BK-1OMELC | 60 BCIMELCOBE )| (2M8X30) #a1-t0 | #ao-soL |DP/1T7FTYHUD
BC-1oM-ELC | [38A] '_"5 () [aC1oMELC60E (B) (DELC-40-BCR(L) =Tl CE
Heavy-duty | -Right(Left) -Right(Left) | @Setting bolt ®UB-206 : Tpc
BK-10L-ELC-50-% (%) hioXagonisocket bolt ULC-10G
BK-10L-ELC -50 “Right(Left) head cap screw @Hexagon bolt .
P A 2-M8 X 30 = 40-78L (3-M10 % 35) with PW,SW
BC-10L-ELC S[t*%'_%] E (%) BC-1OL-ELC-5Q-E(ZE) (ZNERESD) #41-T50 # ®Cover brackeY|(40) : 1pc. ULC-12G
andard | -Right(Left) -Right(Left) ULC-12GSC
BK-10L-ELC [gié‘%] £ ) il 4 #41-T60 | #40-84L ULC-12GSCR
-10L- BC-10L-ELC-60-
BC-10LELC Heavy-duty | -Right(Left) fRigEht(ZJL_:ift)
BT-11SELC-H (%) -40- _ .
BT-11SELC| “Right(Left %%'iﬁ S #40-74L %L_{_ngg 18
o i iy BT-11MELC-50-% () BTNV - 2 7 AR
BT-1IMELC [1Z:#] A (F) -Right(Left) INATARIL B #41-T50 #40-76L (3-M10X 35)
BT-1IMELC60% (%) | @Setting bolt - o e
BT-1IM-ELC| -60 Ri #40-82L |@Hexagon bolt
BT1iLeLe | ] | BB e e | headcap serew #41°760 (M1039) with PW.SW
Heavy-duty | “Right(Left) -Right(Left) (2-M8x30) #40-86L
(MBSB-35: 118
@7"AmRI b~
52 (2-M10% 45) PW,SWft
(=] BC-25M-ELC-52-% (k) (DELC-50-BCR(L) #50-T52 #50-70L @R v hRIL b
S Right(Left) | QER{F7RIL b~ (1-M10X50) PW,SWit
NENARI S @7<F7F v M1-M10)
\—7'54 k(50):1{&
BC-25MELC 4 (5) (2-M8 X 30) On 777 ReOn
Right(Lott) (DELC-50-BCR(L) @Hexagon bolt
47 ®f{2;t;”g%rf";'gcket (2-M10 X 45) with PW,SW
e g X _49- ®Stud bolt
I;usui] e ELigtﬁiﬁ) ?ffi,ﬁgcxagos)crew #50-T42 #50-64L (1-M10 %X 50) with PW,SW | ULC-25G
High-speed @Hexagon nut(1-M10)
(®Cover bracket (50) : 1pc.| ULC-25GSC
BSB-35: 1@ ULC-25GSCR
@RI~
352E BT-25M-ELC-52-% () | ELC-50-BTR(L) #50-70L (2-M10X 45) PW,SWfF
[ER2E] Right(Left) | QERTRIL b @R% v R b
Standard NATUTRIL & (_1-M1OX50) PW,SW{t
BT-25M-ELC & (k) (2-M8 < 30) #50-T42 @7"A7F v b(1-M10)
“Right(Left) (DELC-50-BTR(L) @®BSB-35 : 1nc.
42 ®§18ttmg e ket (@(Hzer\)/(l?g(;nfsglt ith PW,SW
s - | - - exagon socke - 5
[EE] BT-25MELC _42 £ (k) head gca\p screw #50-64L ®Stud bolt WI
High-speed ‘Right(Left) | (2-M8X30) (1-M10X 50) with PW,SW
(@Hexagon nut(1-M10)
755y MiEBRE
?.2 :T:ﬁ 7.‘50_“/ MEI@ Bracket equipment package %B%—F{gu:g% iEFﬁ Eﬁﬁﬂ%
N a—3> =08
Model Bracket package | 2 5" 4w NAEG _7~ 750y Mib SAFETY LOCK ELC Applicable
Fr—r operator
Sprocket package Roller chain Flange unit
BT-50M-£/ (£) |#60-T50-¢ 50 : 1@ BSB-50 : 2{E ELC-60-BTR(L)
-Tﬁm‘()b [ ) s AELEHRL [<IFHE] RV Y b (8-M12X40) g fiﬂﬁtfii%ﬁ@iﬂi HE ¢
_(1:M12X50 (1-M8x 32) BAfTABL+— (-1ex11x56) | - RV by b
’(‘ﬁ; 3h KTy ROM8) 2% 7 R H S —sks0W ;18 (éfﬁé\iiﬂg)$;b; oI
BT-50M | -H (%) |BT-50M-R(L) #60-T50-$ 50 © 1pc. #60-70L |BsSB-50 : 2pcs ELC-60-BTR(L) ULA-50G2
‘Right(Left) | ~Hexagon bolt - Hexagon socket set - Bolt sets (8-M12X40) - Safety Lock fixing plate : Tpc.
(1-M12 X 50) screw [Cup point] Gib-head taper Key - Bolt sets
- Hexagon nut (1-M8 X 32) (1-16 X 11X 56) . Hexagon socket countersunk
(1-M12) - Hexagon nut(1-M8) Shaft collar SK-50W : 1pc. ?Ze—?ﬁ zsiae()‘gvinEc thrend lock
BT-75M-% (4) |#80-T48-960 : 11& UCF-212 : 2{& ELC-80-BTR(L)
-7‘((%71%)11 k ) - ARALEHRL [IFHE] - ARV hE Y~ (8-M16X50) g Eﬁtfét%é@ﬁﬁ HAE
(1M12x50 (1MB35) B AEF— (exiix70) | KRS E
BT-75M| 45 (%) | 7HF2 b - AFFy R(M8) Y7 hNT—A: HE .
BT-75L |-Right(Lef . vT7hh5-B 1 ELC-80-BTR(L) g
ight(Left) BT-75M-R(L) #80-T48-¢ 60 : 1Ipc. #80-65L UCF-212 : 2pcs - Safety Lock fixing plate : Tpc. e
- Hexagon bolt - Hexagon socket set - Bolt sets (8-M16 X 50) - Bolt sets
(1-M12 X 50) screw [Cup point] Gib-head taper Key Hexagon socket countersunk
- Hexagon nut (1-M8 X 35) (1-18X 11X 70) head screws
(1-M12) - Hexagon nut(1-M8) 2222 gg”z: S }Sg (2-M16 X 35) MEC thread lock

KBARED-AE)REABFERLET. SENDOBRBFEIERLTILESL,

X In the model, Right (Left) means the right-hand (left-hand) side installation. When ordering, please specify the required installation.




INSTALLATION OF SHUTTER

Yy —HEUR

: 490(475)[530] g—2&E W+230 490(475)[535] r—22E W+230
I® Overall length of hood Overall length of hood
| 320(315)[330] 170(160)[200] | 3 85 RSy heE (ﬁﬁﬁ(ﬁam W+90 ; 55 320(315)[335] . 170(160)[200] 85 25y bR GEPaET) W+90 55
s= o Overall length of slat (incl. end fixtures i i
FSARZOTY b = o o 1 SARER $320 - Overall length of slat (incl. end fixtures)
Drum sprocket 0 28: HEMRSLRE @+145 57 Ezrﬁ\;—{pz)gg vk (51300)?(1, 380] El 28_ ERRSLAEE @+145 | 67 l
#41-T50,T60 %’ | Overall length of winding drum Sy H—r— R #41-T50,T60 1|: m:ﬁievtvg;dmg o Overall length of winding drum ]
\ [ = sl e e o Shutterhood o] | . < | |
L} [} = - e e — S 1 . e o adny - 1* —_—
S 4. ~ g Vs T N — N, ]
g 2 g |€ USyRRAYF Tt RUFHE o __ S L2 o 25y FBABED  \Lrys—tr—2 e
© | Limit switch Brake and manual control section AN ’.B| 17.3 | Slat Shutter hood
w0 83 / / (RRER) 0 | ‘ (Max. winding diameter) |
Z 7 Z \
| ' |/ | (Sgléatx \g/inding S N all J C; ” |
) — H | _ . s | diameter QL | L 9o 3 v " . g : T r |
A ,- & / 2 g -5 I T T
= X, = 1 UI o = Motor section \
8 ~ T d I 8
§| = g ] / | S| @ g / W
S|l = I | ol = =
g = | & 4 = g & 3 Ff
g MY “| ¢ _—_
2 | L TR 3 !
o sile ﬁ o (B :
N L | " — ] N ¥ E
I == y -- fe=—1- - e
L ¥ y—-IJ ! ‘L] Reduction. ?Jﬁﬂtﬁl i t T ' . ' ' &eduction,
) ¥ | | 1 |gear section | ° ontrol pane ) - ¥ | | gear section _I
[\ JIN = LabivsF—me | —— | 1 T[T > TTTUEY R A vF [
\ 7987y hZ7Oy b §, ™ Short link handchain center | ‘ ‘ 7Y Ry FATOSY b 3 | | Limit switch
Output sprocket 5 | BERETL/A— 347 Output sprocket 5 3=V oF -4 350 Earth terminal ‘ ‘
| #40-T9 (PCD.37.13) A | Controlled descent lever center | | || #40-T9 (P.CD.37.13) L | Short link hiandchain center (M4 screw) | 3
Sg—RU3 — I | s S . BERETL/N—Fu 460 7' L —FRUOFEER
;woart Iitkjh:nzcal:alin = © :L (Ei??llﬁﬁ% ooeSr?toSr ! | ;irrlitlsjh:nggl;alin_/ I |Contm"ed on W00 il | |
397(3815)[438] 70 |60, s P YT | 397(381.5)[438] BARIS R B48:645 =1i3:663 .
| Rail delpth Rail dopth | I Overall length of operator Single-phase: /Three-phase: ! |
| s
| 82 R 130 Tryy—EOW ~_ 100 | 82 ‘ 70 | 60 Tryy—EOW ~._60 ‘ 40
' BK —_ EI_C’;E?‘ 5 7 v I\ ! Shutter opening Ll I 1 L }l/%é: Shutter opening =T ’W
Bracket Type BK-ELC Rail delpth lr:;{jl;ﬁf
490 (475)[530] 7228 W25 | 490(475)[530] r—22K W+230
1 Overall length of hood
[ — 85 25y h2E GEMET)W+90 55 | 320(315)[330 170(160) — = . .
320(315)[330] , 170(160)(200] 8 Overall length of slat (incl. end fixtures) | ( L ! {160)200) 8 85 5 25y bR f(ﬁﬁﬁﬁlf?ﬁix) @+90 ; - 55
| = N . = 28 HEWMRSLALE @+145 57 | RS AZTOSY kb = verall Iengﬂjf slat (incl. end fixtures
Ea,ﬁ\gzﬁgj k E Overall length of winding drum _ o H—hr— X | Drum sprocket ,‘2 28 B %H)III T?L}jﬁfﬁ @d+125 57 |
= YT =T— | E ~| verall length of winding drum
#41-T50,T60 \ o — | #41-T50,760 'QA i
& ) [ ot S —"n ] —, 1 M C— i S ——_ N e, W W g T B T == ool - - rtd
e Il ==L - T T e T
¥ F [ S
— . | - _ s |
§| NF=t © e ® T 8 =T |12 _\—M b Bk e
o =N 2 imit switcl JL— [0 = = . | Slat o : I
Qr | 3 ' 17.3 n / JBrake and manual control sl:ction (ngijj(j%z%) < | 83 (Max. winding diameter) 9
Z — Wi Z - Wi
3/ S o 83 I Flat  wind | 8] g I
= 1+ L 5 S R A S— e | RO S B L 5 3 el L=
g | /8 g il 3 s & =8 )\
= o B 4 = sl 2@ Motor section \/
S = / s I / = 3§ e
S =1 7 8 E=:= | g 2 G B T Control pane]
o D < o e
O 3 - / | v = / ~
¢ 2 =l = L ¥ 9 B S
= T | e ¥ X - . 1 — |
P \apTErEs V[ =y £l < \EpTEEEE  \[]]/ ==
§ : ESAE—EFT%%IC_K ELC m &= H—H ﬁ 3 \SAFETY LocK ELC m ﬂr" T L
e ELC-40-BCL | | i - Lol ® # -' ELC-40-BCL A 7 : | I
'kJ !,\ 1 | r i Motor section flcﬁlhﬁtu&i I 1 1 1 i r f 1 Eggycsté%rgion 7 — RIHF I $
Voo ‘ I it | L _ e ion | e = oyl AN i v RV EST > U CT i M4fa L) |
Ji o | T o i s T o " M | =) | [ Limit switch Earth terminal | [
Py RRAZ7EA Y 3=MNyoFz=rmil 237 | H v hZZ7'A45 ) M4 scre
\ \gu?pt?sértckz JT i .u'__), I}(_Wmler_” [ \gu?[)l:tjsértcth iy = | |:/3-|") VOFz=U%il 350 | 7*[/_::&(_; l
| 1#40-T9 (P.CD.37.13) S| | BERETL/N—HL 347 | #40-T9 (P.CD.37.13) ’é | Short ik handchan center NES T [ ]
\sa—kULHFI—) ~ I Controlled déscent lever center 1 | | a—kIOFT—2 = | HERET L/N\—dul 460 Mar}ual Sontrol [
Fort ik handchain =] | ! | hort Tink handcehai = | |Controlled descent lever center section |
shor i SR 54 i short link handchain = . .
- F Overall length of operator 1 | | | RS R B4R:645 =1H:663
! 397(381.5)[438] | 70 60 v Lz 60 .40 397(381.5)[438] 1 Overall length of operator Single-phase : Three-phase: | ‘
82 : 130 o i Srys—mo@ " 100 82 70,80 4 Zryy—MO0@ 180,140
| 1| =" = s vyl T < - T e
D BC _ELC;E7 7C7 ‘/C I\ = Shutter opening e [P Shutter opening .
Bracket Type BC-EL Rail depth Rail depth
Gz (Notes) 28 +145 57
1. AK(ZULC-12GSC-ULC-12GOEBFHNE VS ERTT, 1. The drawing refers to the left-hand installation layout of models ULC-12GSC and ULC-12G. @ .
2. AMFEVIZL—IILEEH0mMMDBEERLETH. FENRLEIBESIARICEL 2. ;’he dimentions are decided with a rail depth of 60mm. Different rail depths lead to change in other ';j;fbky N
oty imensions. ) i DHA K 5 = s -
N o N . . NN 3. Drum sprocket of #41-T50 is applicable to BK-10S-ELC and BC-10S-ELC. k5 RZAL v 7 b 20 /" F-side bracket
3. KSAZTATY I~(1‘~BK—1OS¢-ELC~/ ') =X, BC-10S-ELC> U —XH3#41-T50 Drum sprocket of #41-T50 and #41-T60 are applicable to series BK-10M-ELC, BC-10M-ELC, BK-10L- 757y b _)(_6 o= —ss Drum shaft [
D 1#&%8. BK-10M-ELC> U — X, BC-10M-ELC: U — X, BK-10L-ELC U — X, BC- ELC and , BC-10L-ELC. D-side bracket ™\ BSLTSYY 45 FF .32
10L-ELC> ) — XT3 #41-T50, TEOD2iE4EAEIRTE £ J. 4. The brackets shown above are the cases using series BK-10M-ELC & BC-10M-ELC. Drum flange 4 Iocations: =
4.754 vy MEBK-10MELC-BC-1OM-ELC> I —XDIES &R L E T, The dimensions in ( ) shows a case using series BK-10S-ELC & BC-10S-ELC. = \ : ol%
( YA FiEEBK-10S-ELC-BC-10S-ELC> U —XDIEEERLEF The dimensions in [ 1 shows a case using series BK-10L-ELC & BC-10L-ELC. _/ H oo | [ EF%/"’[ \ ﬁ/
[ ]I*JT;fI?IBK—1OL—ELC-BC—10L—ELC: J—= E‘Z’&,_\bi ° 5. Be sure to keep 70mm for the gap between D-side bracket and guide rail. 1:.5«; J Core [ 1
5. D4 |\~,7- b bé bbb ORI /‘23270 0)131‘—7{:—(<;{oé " Otherwise, Safety Lock ELC will cause an interference with slats. Rt 2 - = H"‘ oS £ - 8 I
-D 77Ty /= Dia =] SN mm. Z = o L} Sle 0 /;T =
BB TELEBERS Y MSTFHLET. N g ¥4 \ | 8
3.2 ) 7 /| N
R ;Yr)/ S?'T i 45 = 45
= 10 110 60 B
— >
ol o= : 180
(4B &#H K5 A~TE]

[4B Winding drum dimension]




Yy —HEUR

INSTALLATION OF SHUTTER

550

350 200

3=V GF—i 2835 KSAZRTOY Y k
[~ Short Ik handchain center | Drum sprocket!

BABTE 6380 [#50-T52,T42

| Max. winding '\
|diameter v /

g—22E W+240 DY A K754y MR 620 br—2&E W+240
Overall length of hood Overall length of D-side bracket Overall length of hood
25y hER Gemat) W+90 65 420 85 25y MR Ghewat) W+ 65
Overall length of slat (incl. end fixtures) | Ya—-NIVHF =i 300 | Overall length of slat (incl. end fixtures) |
HEWRSLASE @+125 67 | Short link handchain center 45 | 39 EMRS LR @+125 | 67
F5A17°|:|"7“/ ~ oD =] R Overall length of winding drum T
. Sla?j b (GRERD ’/-\"‘yﬁ—’f—7w|25

(Max. winding diameter)

Overall length of winding drum 3 4 w4 —4—2
/i; Drum sprocket
Shutter hood |
e #50-T52,742 |\

T
400

550

T E—SE FHH

I
Reduction, Motor section Manual control I.|
gear section section ¥ Vv

sz

et i

)

of
vb’
\ __i 3 |
\ BRETEILEE
\ SAFETY LOCK ELC
ELC-50-BCL
I"\, \\ \
/ LV \  Studboit
Laztuxsgz=y \ N\ N\ 7oty pzrosyf
Short link handchain | \\ " _Output sprocket
\ #50-T10
ERUIY FRAYTF | \
Optional limit switch \ SHRO MW5429
LMO-99Y-G15 Access hole for hood
H72a) R
(Option) BC— ELCJ_}.! 754 W ~
GEE) Bracket Type BC-ELC

1. AEIFULC-25GL 2 TEILEBELC-502 U — XD EBFME Y SERTT.
g f@f;gg;t’fé?&%qg?&g%gﬁ%ifg?&fg@%ﬁ{iﬁié%ﬁ2‘?ng@*¢° 2. The dimentions are decided with a rail depth of 60mm. Different rail depths lead to change in

2EHEMBEIRTEEY.

4. DA KT S5y eV —ILEDRIREIE. T T7T0mmELEICL TS EE N,

XEBETELEEEERS Y M FHELET.

LENTAY 240
Hanging length

s SAFETY LOCK ELC
25y BRIVE - HR=755 +60)

_~"Shutter hood |
T o e i | T —

Reduction,
/_gear section

TU—RUFHE ke @
sMeacntLiloar‘l control Control panel !

A\
\ 2%y KR+
FY4 K754y bR 400

Py 2o O 2
Limit switch B 20 e
l. = LM-001-G32-4 . . e
15 & - . [115
| = Vrauy 1
Short link handchai
va- b oF il 412392) Earth terminal ort T nandenain
Short link handchain center | | (M4 screw) | iggg 1y} E,W,"Rff v F
HERT L/N—F 522(502) | | Optional limit switch
Controlled descent lever center ! LMO'BQY:G'IS
| BRgER =HEETE:510 | (?(;Zﬁ;)a ) Overall length of F-side bracket

Overall length of operator Three-phase voltage except:

MBS E  707(705) !

Overall length of operator

11!.70!60L

vy —HEW 58050

Shutter opening o L
b—lRe Bracket Type BT-25M-ELC
Rail depth

(Notes)

1. The drawing refers to the left-hand installation of model ULC-25G and Safety Lock ELC series

ELC-50.

other dimensions.

3. Applicable drum sprocket is 2 kinds of #50-T42 & #50-T52 for series BC-25M-ELC & series

BT-25M-ELC.
Be sure to keep 70mm for the gap between D-side bracket and guide rail.
Otherwise, Safety Lock ELC will cause an interference with slats.

»

BT—25M—ELCEIT S 4 v

N
T4 T—RET |
Y= v NRA s F Wofor section (M4t L)
Limit switch Earth terminal
LM-001-G32-4 M4 nromy
[175 ‘é°|’—‘— .
T < | T
. o]
hl i_ .é H |||
i E S
1] ] |
va—hUZOF Rl 412(392) | |
Shortilink handchain center L |
| BEBTFL/A—dib 522(502)
| Controlled descent lever center ‘
FEgER =MHREE:510
Overall length of operator Three-phase voltage except:
FE#EEK 707(705)
| Overall length of operator
| 70 | 60 |, Srys—REOoW 60 50
- i Shutter opening o Se
L—IVRE L—ILRE
Rail depth Rail depth

XEE RS ADTEFHMIZ. SBER K S ATEESRLTI LS,

For detailed dimensions in winding drum, refer to 5B winding drum dimension.

SRETEILEE
SAFETY LOCK ELC
ELC-60-BTL
SRETFIEEERERER 275

Safety Lock fixing plate

BRAAL R
(RAAFIAL B

Setting bolt
(Hexagon socket countersunk
head screws

2-M12X 20

1

280

¥

RSAZ7AT Y b

60-T50 i, g

Gib-head Taper Key

16X10XL56

90 W+270
T Overall length of hood
SAFETY LOCK ELC 35 75 25y hER GREMSt) BH S A2EW+120
ELC-60-BTL | | Overall length of slat (incl. end fixtures),Overall length of winding drum
35 ‘
L}
215 [ T T T TR T e
Sl B P eI
PRy E—4E8 FEhEp (Sr\lllaatx. winding diameter)
W Reduction. Motor section Manual control
I / gear section section
TBr—T / -/ . JL

=5  ——

470
-
o
]

797y bRTAT Y/ |
Output sprocket / i
#60-T10 (P.C.D.6|1.65) |

82 Tensioner /
RSAZTATY bk /
Drum sprocket /

. {
BAERE 440/
Max. winding
diameter

360.5

#60-T50 I-"

746.5

GED)

| | ya=buvs /1N
L | 1 —
72| e BERETL/N—
@ \ \\short link handchain Comtroled descantiover
. ¢ N ELTEGE N oame
N g)l1?f$){« I: ‘ N\ Ontional st switch —%— N\ &Zéﬁﬁ)%
Brackle\t 9—4:-.—37—7\7 \M Earth terminal
setting bolt i Limit switch . (M4 screw)
6-M14 ' a—hI2oFz— % 351 :

| Short link handchain center
! -l ammTL/a—i 480

Controlled descent lever center

FREEER 524.17

AAHBRTE

Section AA

Overall length of operator |
|60 75 |~ Svys—fEO0W .
| V_.)llﬁé Shutter opening L

Rail depth

(Notes)

1. The drawing refers to the left-hand installation of model ULA-50G2 with bracket BT-50M and Safety

5 = . S A = ek ~60- ; USERT
1. ARIFULA-50G2 BT-50M 7'5 7 v hEBF L 2 T RILEBEELC-60-BTLOME Y EERT Lo e e o0 B TL

3. B TIRIFULA-50G2DI5E8 &R L ET .

2. KMEY RV —IVREDTESMMDIEEERLE TN RENREDIBREFAR-ICECET,

3.RSAL Y T bDF—EFTERHFHISELET.

The dimensions in operator are of model ULA-50G2.

dimensions.
3. Key way dimension of drum shaft is new JIS (Japanese Industrial Standards) key.

@\ \erahre— #Hy A B t
aft collar = P Q s .
o\ Jue K54 |Gkt | ha s | (Rm )
K Flade unit_J Winding drum |Outer diameter [ Core diameter Thickness
BSB-50 5B 61398 | 131 35
\BT-50M7'54y b,/
Bracket 6B @ 165.2 ¢ 155 4
165 @W+120 105
7l 7 |
4 Iocagofrﬁ >_‘:'_\ 4 Ioc:“ago,:r‘i ba=a t |

o]
lco
==
¥
050

|
|
|
|

2. The dimentions are decided with a rail depth of 75mm. Different rail depths lead to change in other

(& RS ATE]

[Winding drum dimension]




ryvI—HEUR

INSTALLATION OF SHUTTER

550(520)[600]
I E\\ z
2755(262)[302] _180(165)200] min R
RSAZRTOTY |
Drum sprocket

#41-T50,T60 \

g7 3 |
S )
|8 s
— _,;;' § §

g 8

=af

Oy [
7YNTy b 2TEE YN [ i ¥
Output sprocket | ..1 r,
#40-T9 (P.CD.37.13) | | i

i

SRETEIEEE
SAFETY LOCK ELC
ELC-40-BTL

BABE ¢ 340 (¢310) [¢380]

Max. winding diameter

r—22E W+230

Overall length of hood

17.3

t | .
ya-bvoFa-yb B ;
Short link handchain center

vF | 85 25y MR Gemat) W+90 55
Overall length of slat (incl. end fixtures)
28 BRRSLARE W+145 57
Overall length of winding drum $ 4 w4 —4—2X
- ZShutterhood | _

Reduction.
gear section |

E—48 TL— 4’—&0’??;11“5\7(5/ b GERER)
Motor section /Brake and manual control section ~ Slat
(M Max. winding diameter) !

A

VIN—Hs 347

Controlled descent lever center

FE#E R 548

Overall length of operator

KSAZRTOY Y 550(520) [600]

T—22E W+230

 Short link handchain \ 7Y RTy RZTESY b

OutDut sprocket

BERET L /N\— 460

Controlled descent lever center

Drum sprocket 2755(262) [302] 180(165) [2001 BREE 340 _ “Overall leTEth of ho?d 5
: | 85 25y h2R GREMET) W)+90
#41-T50,T60 Idla:nevtvé? ing Overall length of slat (incl. end fixtures)
BBEEE . (6310)[$380] 28 BIES LR W+145 57
Autoomatic shut oiunit I | V | ATy h(ﬁﬁ%&) Overall length of winding drum v v ==X
(7]'7_ >3) - “_‘_’ = . Y at ; ___~_Shutter hood |
(Option) S : } ST [Ty 3 ; : "‘__"_"_"_"_"_"
& | T 2 i —t— =—t e IR e il ERRSL @
TB 8 . al . i Bl = \ 6‘ — 7.3 - gggycstéocréion Manual control Sentolpenel Ll Gl
O 1l 33 Lt T ST i section |
~ . z 7 g | . A o 7 -+ =
8 2 72 ) =~ = | g
—y | 1 . o (=) I |
| |.'.' | m [} v H
s / ~ ™
~ 4 ! 8 E; — -
. ’ ©
NE R g/ S E—HE8 |
\j ~— e — Motor section
4 ; =
| : .\ = B e R i
L\ | EETELEE S
224 1N \M\ [ V. e
ya=furs L=3 ELCAOBTL 25 | Emtbmn 2| (ommmemene | | | | il |

x4 —| #40-T9 (P.CD.37.13) RS R B40:645 =1H:663 |
(9 70 60-—./1 vy Fajl:l @ ".;_60 A0 Overall length of operator Single-phase: /Three-phase:
VRS Srutter onenine LR 60 ) 60 40‘
o Ty —i . 70 vy —E0
BT—ELCEZ 5S4 v Rail depth Rail depth BT—ELCEIT S 4 v Ry Shutter opening BN
Bracket Type BT-ELC Bracket Type BT-ELC Rail depth Rail delthh
GERD) (Notes)
1. AKIZULC-12GSC-ULC-12GNEBFMHE VS ERTY. 1. The drawing refers to the left-hand installation layout of models ULC-12GSC and ULC-12G . _ " _ . .
2. AMEYEL—ILEESE0MMDIEAERLET. BANRAHIEAIIARICHELEF, 2 The dmentions are decided with a rail depth of 60mm. Different rail depths lead to change in other KEE RS ADTEFMIZ. SBER P S ATEESRL TS LS,
: 5 S P 3 s - dimensions. . ) . L o . .
3.RZARZOY Y MMEBT-11S-ELC U —XH3#41-T50D 1548, BT-1IM-ELC> U —X y . . . For detailed dimensions in winding drum, refer to 5B winding drum dimension.
. .n > 3. Applicable di ket | 41-T50 f BT-11S-ELC and 2 kinds of #41-T50 & #41-T60 ’
BT-11L-ELC U —X TI&#41-T50, TEOD BN BR TE £ T, o deres AT TINE & & seres BTILELG, S and 2 ancs ot !
4.7545y MIBT-1IM-ELC> Y —XDIFEERLE T, 4. The brackets shown above are the cases using series BT-11M-ELC.
( YATEEBT-11S-ELCY U —XDig/%ERLET. The dimensions in () shows a case using series BT-11S-ELC.
[ IR~HEIEBT-11L-ELCO U —X DS &R LET., The dimensions in [ 1 shows a case using series BT-11L-ELC.
TS A - =1 g kI s 5. Be sure to keep 70mm for the gap between D-side bracket and guide rail.
5. 5(21%%7{“"1;%2&}[/5 /)l':%gil{i[i‘# FTommELERL T2, Otherwise, Safety Lock ELC will cause an interference with slats.
X2 5 o
:5 5 DY A K754y h&R 620 r—2&K W+240
Ezﬁizggj b r—28E W+240 Overall length of D-side bracket RAER ¢380 Overall Tength of hood
550 #50-T52.742 Overall length of hood 420 200 Max. winding 85 ATy bR (FEYST) @+90 65
350 200 . ’ ) 85 25y MR GEYSD) @+90 65 R . s CEUE O Overall length of slat (incl. end fixtures)
Sa |‘U/79"I v 7507y FHX{’MUI’ k Overall length of slat (incl. end fixtures) KSARTOYY ~ v3—-MyoF -8l 300 757y MBfFRIV L 45 39 HE RS ARE @+125 67
i 23 Zf;lc]kzet setting bolt 45 |39 HI RS ALE .@-_{_125 67 Drum sprocket Short link handchain center Zrml;et setting bolt o 'ﬂ Sy |‘7('f vF Overall length of winding drum s s |25 i
BAHERE 380 Short link handcham center. Overall length of winding drum ;/hﬁt‘ye?h:g_x #50-T52,T42 | e Ll\lllrrC") 65\,"1 CTAZC1 Earood—— IITT T
Max. winding e mn e e e onUtter hood o] T ' S AL - R
diameter —= 3l | e e e e e e ———— e
L e Hr——e ey ZL=F RV
o s USyhRAvF B ® 165, AES  SEE P’ v b A
e il (Il PR
094 = o 5 = : =3 s : 4
+ + | T
' (SME:;; winding diameter) 1 — o . H—‘% ::
- P | 18 | § -E- _.I,'r_ L
R - i
F éeductlon geari section x per .7 Zjﬁ?—_— . Il
T4 TL-— #&U?i’]“ﬂ = — ] — Al
= Motor section .~"Manual control section ! * ] = m M4t L)
EFT e o T ?/ 9 Earth terminal
—H _ Control panel | » N _______&_(_MMQ\_NH_ N |
S|t L] H — == L
- sz i ) \ g% f
= ET ] Siz_.e SETELER | Wl S5 I
2l -+ .25 ! SAFETY LOCK ELC ,_-1 ) =2 it | ]
[ _ 3 R I L | ‘! ELC-50BTL ¢ !/ 15 = 0L
;E_EU/Q %ﬁ i 15 C o - ili: " —fr— r— Tm— — e D — — — .—i_....._ -
Jz—~ % SETELERE — 7 — AT A,
short link handchain| go | | SAFETY LOGK ELC S TEbES 33— N hF 1=y 285 Mara ) | g.j{p"j S/DI:O%ZEEVT/ k
p— ELC-50-BCL SAFETY LOCK ELC ™ Stort Ik handchan center Earth terminal Short link handchain g ~‘/ =M)YoFr=Hi 2885
7t N Ty FRTOTY R HAN=T54y k(50 BEBETL/N—i 3985 (li:t screel;rvn)lna ENEY . #5010 Short link handchain clenter
I Output sprocket Cover bracket SR TR OE?‘ Y TI'J't Z_’tf :9" FH4 K757y h2R 400 . BERETL/N—f 3985
HRUISY FRSvTF | #50-T10 B LR 5985 AR LR L Overall length of F-side bracket ™ Controlled descent lever center
Optinal limit switch i Overall length of operator LMO;QQY:G‘IS 45 Bﬁﬁﬁﬁgﬁ 598.5
: .= L—IVgE SR I L—VgE .= 7060, SryH—mOW ._60_50
Opt \ \ P
(Option) BC—ELCEBIZ ST v Rail depth Rail depth BT—25M—ELCE!T ST v b l/-)b‘%'c‘? Shutter opening Ll
; —
Bracket Type BC-ELC Bracket Type BT-25M-ELC Rail depth Rail depth
45 _]|39 W+125 67 | 45
GE&D) (Notes) 44 F 10
1. [FULC-25GSC L2 EIERBEELC-50 ) —XDOEBFMEYSERTT. 1. The drawing refers to the left-hand installation layout of models ULC-25GSC and Safety Lock ELC 4 locations
AR LEBETELERE ) Z>EK |27
2.RHEY IV —IVREDOMMDIEEERLETH RENREDBEEIARHICECET, series ELC-50. |7 T Wi [T &
3.RSARTO4 v k. BC-25M-ELC, BT-25M-ELC 7' 54w k3t (- #50-T42, T520) 2. The dimentions are decided with a rail depth of 60mm. Different rail depths lead to change in other 1 |I | 4 g;g { J o
e ’ s ’ dimensions. e | N fra®
2B REIRTEET. o . 3. Applicable drum sprocket is 2 kinds of #50T42 & T52 for series BC-25M-ELC & series BT-25M-ELC. (| P I f'-“'rﬂ,—g‘e'e "l—'—‘—'—]'—
4.DYA RTSoy bEL—ILEDRRIE. BT T70mmLLEICL TS ZE 0, 4. Be sure to keep 70mm for the gap between D-side bracket and guide rail. - m| | || £8mm
XA TELEEBLRASY MFHELET. Otherwise, Safety Lock ELC will cause an interference with slats. vy U\ go /Q'D“
N + |
orthe eake aBe »/ He el |,
T 53T
D-side bracket 0 P 10 170 68”1
=T | FHA K
#0=B9 | 248 757y b
| = s ' F-side bracket
(5B &#H K5 ATiE]
[5B Winding drum dimension]




Yy —MEUKR

INSTALLATION OF SHUTTER

755y bBARIL b

ST EHESETER Bracket setting bolt
Safety Lock fixing plate 887 6-M16 | | Sy y—r—2R W+480 J
AR b \ ‘ Overall length of shutter hood "
(RARFIAL B \ L —= 20 110 W+290 V)20
Settmg bolt
™ ket countersurk 350 260 [
h:;agsgpesveg et countersunl - L . - ‘ 415 115 EM RS LR @+60 115 | 415
2-M16 X 35 C RSL2707 v b V.sl10 ! Overall length of winding drum |
} —-| Drum sprocket -p..—.-— ! 35 65 |
#80-T48 ¥ |
SETELESE - (_T
SAFETY LOCK ELC | I=T | == == e == = - - -- - — |
v R RO ELC-80-BTL BN 1 s |
(ngutz)réctet ekl @ Eﬁfﬁ Control panel
#80-T10 / gear section TU—+ROEHE N> KL &
12 1 ! E E—HER Manual control section /Handcrank | '
N | Motor section i d s
_ i Al b i |
s | : 1 Ca c—%r I " ol | i :
| |‘| x .
¥. 9 B { I | - - - - _
ik gE N
: i 25 | ; :], |
—_ ! &l i Al
) | —- : Sl | } | HeH
78 . BaERFLA— ™= N,
o 101 Controlled descent lever | 772y N 30
| ) RSy RS VT . Flange unit V.
| SETELES Optional imit switch Sa—hYroF—> UCF-212
= SAFETY LOCK ELC Sy RRA vF Short link handchain e
= | ELC-80-BTL Timit switch N
' e e e s
: 757y hk
BEL Y YvY—HDORER | | ey D ' R |
Winding diameter against Shutter opening width _?_'/'_/—Elf_lﬁuﬁ.?;alm—_/x}. ' —i‘ I | HERKR T L/N\—F. 487 Bracket | | l .
ensioner . A |
%11 ‘/ vy 9 —H : #80-L65 L - f1I I‘!I é Controlled descent lever center A=t avTL—Fk -
g{zlinrggtger Shutter i 430 \ ar a3—k I) ‘/99'-1_"/:':,&\ 524 Caution plate
.l | L — Short link handchain center
b 425 3500mm )
Ny RVESS 3= MU 2 oF 1= il (443) N\ RIVETES 2R 661
& 450 4500mm From center of handcrank and handchain - | i Overall length of with handcrank
< | BIEHAS R 5885
® 470 5500mm | Overall length of operator
| 110 70 |75 Srys—EOW 75 |_70
754y MR b Shutter openine !
ST EEETIR Bracket setting bolt
Safety Lock fixing plate '-_I 937 6-M16
- ) 757y b
BRI~ 660 Bracket
GRBAFIAN ) d 75ryazy bk
Setting bolt v ™ ’d Flange unit
(Elexggon socket countersunk 350 | 310 BB — | UCF-212
€ad screws, LY i s 1 Gib-head Taper Key
- ) RSARZTOT Y b
2M1635 \ Drumprocket | |, 18X TTXL70 R
\ -—-| #80-T48 7k e
B TELEE / \ e |
SAFETY LOCK ELC . = = - - o = - - 1
ELC-80-BTL /
KSAZTOY b f_ﬂ !F T / #EY A B t
N W / =0 p s . s
LTt e = ; KSh |GMETE)|(RFHE) | (AETEH)
#80-T10 / Winding drum |Outer diameter | Core diameter |  Thickness
¥ i
. _ vI7hhS5B / 6B 165.2 155 40
%’7/;__/\ & Shaft collar B CCHrmE / ¢ ¢
aft collar s h
Q Section CC / 7B 61907 | 177 53
/
o ‘ [ =/ ! 8B ®216.3 @201 5.8
“Y'L = S ST SISV SISISSEISISSISSISUSSUNCSISRISN—_ _ _ _ /
y o
-{:* 225 W+60 ol 145
a | | _ -
. 11— ' Sale 4 »led 45 |
o /! i 18188%8 i Ioca?i-o’:l)z | 4 locations” — —3l|-[-llti iI--l.h
X 7 == | ' Pgr
> +'§')( o L y | ! Q
%7 8 [ | T | el
% b i Q L ]
A/%:‘gf\s\ / I <|—m I'Il'. - - - > =1
L E i ¥
A . | | ? - I all 8.
= 660 o3 | . ey 3 / 8
| T | ! . A |
| he=s=ead foames b e s T e e e Ty ¥ ¥ @ 8 -ui—l£ 8—‘,‘-—--K aell o] Epd a1 _-,..l..si
BELE Y v I —HOBER o—s7.—> | TN L 235 = 320 = L 320 ' 155
Winding diameter against Shutter opening width /522 a%— |Roller chain ! -— ._1- J P 1 = 475
= S “ — Tensioner | | [ R ¢ ) . — e - -.
BE | Yvyy—H wap 065 et 7Y 2 [BER K S AHER])
Winding utter - - | [Winding drum dimension]
R - - T __ _________________________________________________________________________________________
& 470 5500mm N BIVERDY 53—V oF 2 — il (443) | | GERD) (Notes) ) ) ) )
From center of handcrank and handchain v . 1. ARIFULA-75G BT-75M 7' S 4 v NEBF L 2B T EIFEBELC-80-BTLOME Y S EZRTT, 1.£h$ drallNlnE ErEfCerS to the left-hand installation of model UL-75G with bracket BT-75M and
] e N a ey N N 248 S [~ A [ ty Loc! .
$480 6000mm c 2. FMEY FL—ILESHTSMmOBAERLE TN FEHELBBAFARICELET. 2 The dmontions are decided with a rail de i i i
» . . . g N o it _ . pth of 75mm. Different rail depths lead to change in
—— d__ i} —Ls 3 TBEL S vy 5 —HOBEIL, X5 v MRE16(E Y F 100mm) 88 k5 ARABOBAERLET. o temone
¢ 500 7200mm LRIEBZETHY RSy MERICKYBREIEDY T, 3. "Winding diameter against Shutter opening width' is subject to the use for the slat of 1.6mm
4. RSAY Y7 FOF—BTERIFISELET, thickness (in pitch 100mm) and the 8B widing drum.
¢ 550 8500mm The above mentioned value is just for s reference and the winding diameter depends on the
shape of slat.
4. Key way dimension of drum shaft is new JIS (Japanese Industrial Standards) key.




2ETFLERENER

APPEARANCE DRAWING OF SAFETY LOCK ELC

ELC—40,ELC—50 1) =X

BCT7 4o vk BKZ S 47 v b BTZ54o v bk
BC bracket BK bracket BT bracket
S S S
Above Above Above
H| 4TR— E8
u# Desnding |5|ng
i T, -~ LR
< Descendingty, Rising
: ; by @
E - @
£ ) @
£ +
0
£
ELC-40-BCR ELC-40-BCR ELC-40-BTR
ELC-50-BCR ELC-50-BTR
ES TXR
Above Above
% ! L7 — TR |
%5 RISIn Descnng
@
g
<
2 | |@ @ J
1)
<
ELC-40-BCL ELC-40-BCL ELC-40-BTL
ELC-50-BCL ELC-50-BTL
BTZ7S54 v bk
BT bracket
EBF ES ABF BN
In left-hand setting Above In right-hand setting Above

1R — 8
; Descending; Rising

ELC-60-BTR
ELC-80-BTR

ELC-60-BTL
ELC-80-BTL

76

Series ELC-40, ELC-50 iz 525 L
40 16.5
Oy o8 1 2-M8% v 10 26
E.,_l_. /" Lock shaft 45 2-M8 tapping S |
— ) ——
¥ /1 [ - ——3
—=2 &) ¢ .
=7 <
A\ '_
@
= - : © w| oo [
= = 0| 0w © <
1 o G =
|
Lt | —
75 16.5
: A UARA v FU— KR |
14 YA UFEY Micro-switch lead wire 195 |
Timing gear 2:COM #*:NC
BK:COM RD:NC
60
YA U ORA v FU— FigR 500
Micro-switch lead wire length 1
SRRz & 5mm
5mm wire end stripped
ELC—603 U —X 675 .85
Series ELC-60 '
18 27
T wa
| [l |
% | N
o wl
T o
ﬂ |
A
: 215
M?»ron;ﬁ ‘yda’-u — iR
icro-switch lead wire 72 YA UFEY .
2:COM 7*:NC ! Timing gear 2-M125 v 7"
N ” BK:COM RD:NC 2-M12 tapping
IA4 OO v FYU— RRK 500
Micro-switch lead wire length \1
S & 5mm
5mm wire end stripped
ELC—802 U —X
Series ELC-80 86.5 85
150 23 49
75 | 115 | I 2-M16% v 7
p— = | 2-M16 tapping
| ,
1|— . o | 1
; [
!
| o
[ -
———)
1 \
= = N
L .
L= Ry
Lock shaft | 305 M
el iming gear
32 TAHORS v FU— K
Micro-switch lead wire
2:COM #*:NC 92
A HORL vF U — RIEE 500 ﬂ BK:COM RD:NC g
Micro-switch lead wire length
SeimBEZE & 5mm

5mm wire end stripped

(RRETEIEEBEDEHE IR M AE]

[Kinds and Setting direction in Safety Lock ELC]

GERD)

1.

(N
1

2.

w

ARB2ETFEEREELCS ) —X]IDOAERERLET.
BXREDORBAEMF LEIEBF)ZRLET.

AEBIARICDINT

[ELC-403 U —X-ELC-50 U —X]
CEBFOBER. Oy IMIA I VX VIDBERETERNLET,
CEBFOBRR. OV MG A I OFV)DERGETHEHLEYS.
[ELC-603 U —X-ELC-80 U —X]
ABFOBAR. OV MM I IFV)PERGTEHLES.
CEBFOBER. Oy IBM(TA I IFVIPEREGETHEHLETS.

RETEERBEORRI. CERAICAST STy FOBELBFICKVRRVET.

(BRETEEEECEHLRVMIAAMIZZREOI AFERLTILESL,

. 2ETEEREELC-402 ) —X-ELC-502 U —XIHBUMAF< AR (BE) . 757y FrOBEEBFICX

VERVET,
&7y MU TERT 2B TELEEZEORR L. [RBRTELEEBOEBELDVMITARIZSED
SABIRLTLSZEEN,

BC-BKZ' 54 v MICIZAEICH L T30EMER L TRYFEET,

otes)

. These figures show the appearance of Safety Lock ELC [series ELC].

R and L in the end of model show right-hand and left-hand for each setting.

In respect of the operative direction
[ Series ELC-40 and ELC-50 ]
In right-hand setting, lock shaft (timing gear) operates at clockwise rotation.
In left-hand setting, lock shaft (timing gear) operates at counterclockwise rotation.
[ Series ELC-60 and ELC-80 ]
In right-hand setting, lock shaft (timing gear) operates at counterclockwise rotation.
In left-hand setting, lock shaft (timing gear) operates at clockwise rotation.

Applicable type of Safety Lock ELC depends on kind of bracket and side of setting to be used.
Refer to [Kinds and Setting direction in Safety Lock ELC] in selection.

. Direction (degree) to set Safety Lock ELC [ Series ELC-40 and ELC-50 ] depends on kind and setting side of bracket.

Refer to [Kinds and Setting direction in Safety Lock ELC] to select applicable model of Safety Lock ELC for each
bracket.

X It is set at slope of 30 degrees against A axis in BC-BK brackets.




m R K

CONNECTION DIAGRAM

HLKRY VR vF EBHTCES 64Fh
Push button switch Connection with crimp terminal 6 locations
e REEDY REED O~ AR (BB
| _RD(S‘fOD) | (RD(Stop) ' —— To control panel or operator
(0] A P
BU(Stop) | = = |
Bosml. gosE |
GN(Common) GN(Common)
BED L | B ) e
"+ WH(Open) [ WH(Open) ;EK;E) o N
s n SETELEECE. TW3ET
AN RO — FCLESEERC SUPRT PES
"l BHTONET,
AT B 2EAD) —FRELR)ERLRSI VR
SETRLEEE A4y FOFELEERICENICERLET.
REA iy )
ESRE Built-in microswitch (phaseless (Notes)
Contaciapacity ig.SAEE X COCK ELC = Safety Lock ELC is equipped with 2 lead
AC250V " 2A BK g wires for the built-in microswitch (B contact).
AC100V 2A Serially connect 2 lead wires (black & red)
AC 30V, 2A with the stop circuit in push button switch.
AC125V,/0.4A . . Z‘E

e R F B

CONFIRMAION ITEMS

BIE(T Sy NRYMFEDIC. BT TRRNADOEREBELET,
(MAEBRTEERERT STy MCREEBFIHVET.
TS5y MIBRROREICEEINTVIEELRFELMEVBFES—KLT
WBDHERL TS EE,
(2)2BTELERENT7 Sy MERMABERRICEEICIL T, BIFHERE LT E
0\ (BEER)
XEABFIEELTSET W SIBTT STy MIFEL TS EX,)
BT IA VAR Yy FIFEEFOLLY FRICRYSFNTVET,
RADIFEE TEROARICEEL EHA.
() BEBEOHER
RSARZT ATy & WO YRGS EHZIHE#FI5rp.m)
RO TROARAHKICRA—XICEEET 2 LEERLTSEX,
(b) 2T EMEDOHERR
RSARZ Oy F&ETHROAMICEEES E/2154 (#9330 rom).
SR TELEEENEHL. OV I TR LEERLTIEZ,
@RSARTOY Yy b2 EROAFRICHICREGIE. 2B TELEEEEERS

HTLEE,
KTHBROAMICERRT 52 LEHRALTI LS,
Before installation (i.e. prior to installing bracket), be sure to confirm the following contents. [ @ 9
(1) There are right-hand side use and left-hand side use for the brackets equipped with = = IAVO0RS vF
Safety Lock ELC. Microswitch

Be sure that your installation side is coincident with Right or Left indicated in the end of

bracket package type.
(2)Stand a bracket with Safety Lock ELC vertically as well as the practical installation, |
and confirm a movement. (Refer to right figure)
X Pay attention to the installation side of right-hand and left-hand. (Especially pay attention
to BT bracket.)
Microswitch is surely positioned below from the center of device.

If it is contrary, the device does not rotate downward @. = : BC-10M-ELC- _
(a) Confirmation of normal movement Ry::%. £ C i lS(Z:-mM»ECL:C-?(?Lj-fE
When drum sprocket is rotated slowly (at approx. 5 rpm), confirm that it is smoothly efterence figure : e

rotated both upward ) and downward @.

(b) Confirmation of movement in Safety Lock ELC
When drum sprocket is rotated rapidly (at approx. 30 rpm) downward @), confirm that
Safety Lock ELC works and is locked.

(c)Rotate drum sprocket to approx. 10 degrees upward, and make Safety Lock ELC reset.
Confirm it rotates dowanward 2.

MIEHR T E
AL 4.
METHOD OF MOVEMENT CONFIRMATION

EE Dy v s —BMATTROBMERERL. ZOHESH L < EBICRELET EBERBERICRV O AEMSHYET.

ENERERRIS. AAERIADRIC, B TERMS v 7 FDATIT> T RSN ERD v 7 bOH TOEBMEHERNSHRNT FFERFIFETHLES.

HFERRE LTEBEEZERIETILEZ,

(NDNFTER v 7 bEWOKYREL. vy I —DERAR. THRAMNEDRLA-—XICED I EEHRL T LS,

(2)EBBM v 7 hETHRARICZCEL. 2ETELRENEHTH LE£HERALTILES,
FELBA B v 7 FETRARICEEEL EEA.)

(BEBPMFRILAR BN v 7 hED vy d—DEZ LTFARICHICEES . RBZERSETILEZ,
THARICEGATREEZYET,

(4) >+ v —BTHERE BRRE(COR L TRBFEEZETEETBVTKESVRVBERT HINTEBICLSET) EETRRTE
LFEENEBLENI 2R THREL TS,

WARNING: The method is difficult to confirm the movement after installing shutter. If it is carried out forcibly, it will have a possibility to cause serious accident.
Be sure to confirm movement with only winding shaft before installing shutter. If the movement can be confirmed with only winding shaft, it works in an

emergency.
After the movement confirmation, be sure to make the device reset.

(1) Manually rotate winding shaft slowly, and confirm that it is smoothly rotated both upward and downward.

(2) Rapidly rotate winding shaft downward, confirm that Safety Lock ELC works.
(When it worked, the winding shaft does not rotate downward.)

(3) After the device worked, rotate winding shaft to the rolled-up direction of shutter for approx. 10 degrees, and make Safety Lock ELC reset.
It makes possible to rotate downward.

(4) After confirmation of shutter installation, be sure to confirm that Safety Lock ELC never work with power operation speed under completion of
wiring-connection, and with controlled descent speed by governor-device.

Installation side




BEICTERWEEL 251

FOR YOUR SAFETY USE

1A TEIRAMABE LB ICEMAOEBRTELEEENERAIND v vIy— R
FAICHL TS, BICREEREBASEIZLERRCEXTHEYET,

2. 2%y RS ZEORKIILIZIT TR, A—EBELCHEBHLZN
BETHRIRAKELESBVNESC, v yd—L AT APEBDEREIC
MLUTHTHLEMRELEBEBREONNELET.

3. TRICHEBS LUV TELREDIEE - CHEADKEO MEE] & TE
Bl zRBLTBYETOTHRIBTFUSLEE,

1.For the shutter system which uses our Safety Lock ELC as well as for
our operator, we give fundamentally the highest priority to safety.

N

.Please take adequate measures and use due cautions in the shutter
system and its ambient environment to prevent danger not only when
the shutter is opened or closed but also if the system should not run
properly.

3. “Warnings” and “Cautions” to be used when selecting or using the
operator or Safety Lock ELC are listed below. Be sure to observe
them.

R THEPRYVIRFWNER S LBEIC,

BRA | RUEEREGEESALEMOHDC
= B | LERLTOET,
WARNING If the system is set up or handled wrongly,

death or serious injury may result.

R THEPRUIRWER S LIBEIC,

SFE | BBEASD. NNAEOSEZLE
Lo | RLTOET,
CAUTION If the system is set up or handled wrongly,

personal injury or property damaged may result.

fERRBAIED /=, TEREDFIAICHE> TSLEELY,

To avoid hazards, follow the instructions below.

BHIEDZH, TROBEICE> TS,

To avoid accidents, follow the instructions below.

1A=y v —D2EETUERENEH LSS E. 2EETOREZRE
THEHICHTERTELEBOBLTIEZ,
If a shutter rapidly descended and Safety Lock ELC worked, be sure to

get rid of a cause for the rapid descent and also be sure to replace the
device.

2BH v v —RUBBTELIREDRF CHAL-TII. AYOTELLEH
ATELLERALTEEL,

To design any powered shutter and Safety Lock ELC, always read the
supplied catalog thoroughly any use them correctly.

3ERTHRLEEBR. vy sy —FRADEBTY . MOARICIIERICERLA
WTLSEEW,

Safety Lock ELC is used only for the shutter system. Never use Safety
Lock ELC for other purposes.

4B TFREREORMNIBICE. ERIETOEREVLEL T HEECHR
EVEBELTIRENEENTOVETOT. v v —TETOAPRMNIE
EIT>TKEEL,
Some of Safety Lock ELC installation works require any qualified electric

operator and skilled operator. Ask a qualified shutter worker to install the
Safety Lock ELC.

5757y MISHIEED S DE FERAVLLEE Yy vy —BIREEYRE)
IS5 > TRREYIBERDE U WOALE (CEREICERY T LEE N,

Use the bracket specified by us and install the shutter in the correct
position in the building structure following the shutter working diagram
(installation diagram).

6 S TFLEEER TRFGEFLIHATIEAS LI,
TKOEHAEELDSENI &,
B IR U5 CREBS %RHELTF) TH U iREF-15°CLL E40°CLITF TH B 2
&
Use Safety Lock ELC in a place meeting the following conditions :
- A place that is not exposed to water or rain directly
- A dry place where the humidity is 85%RH or lower and the temperature
is -15°C to 40°C.
7T 2BETRLEEER. TREHTERALLEVWTILEZ,
-BRMEARORET ZRIE
BEDOBENDOHBRE

Do not use Safety Lock ELC in the following environments:
- Environment where corrosive gas will generater
- Environment which may be damaged by seawater.

B RRETRLEREBEZNMELALVBELAZVTILEZL,

Do not disassemble or remodel Safety Lock ELC.

9 2RETFLEREOHERERZ. X5 Y FRIADHIICITW. B TERRS ADH
TEELTLEE,
BUEEREQIL TR TRLIEBEZERIETILEZ,
When checking the operation of Safety Lock ELC, be sure to perform the

checking only by the winding drum before hanging the slats.
After checking the operation, be sure to restore Safety Lock ELC.

T02BTFLERBEIOYA VAR, v FRELTILRSY > A1 v FOFILE
BICESCHBRL T EE W, HEiRRSR)

Be sure to connect the microswitch wire of Safety Lock ELC with the
stop circuit of the push button switch in serial. (See the connection
diagram.)

1 2B TFREREDOYAIAORS v FREEDEATEHEANTEAL TL
=N,
Use the microswitch of Safty Lock ELC within the specified contact
capacity range.

2.9y —DRES-ERBRBBTHFLEEXEOEAREAMN GFRENM RS AM
MIVOR) TERAL TS EE L,
Select the size and weight of the shutter from the appropriate range
(allowable winding drum shaft torque) foe use.

3. 2 TFIEREL. 15,0006 Z 6> THME L BEERE TN TREELT
<EEW,
Consider that the lifetime of Safty Lock ELC should be 15,000 operations.
When Safty Lock ELC exceeds the lifetime, discard all components.

X BRBRDIED., FERAROEEEZTHEDHBYET.

Specifications subject to change for product improvement without prior notice.

X FETRRIRE

All right reserved. No part may be reproducted or transmitted without permission.

IS0O9001, ISO14001 Certification

I8y BXFTERH

LU PYE-0W-T

BX Shinsei Seiki Co, Ltd.

2-17 N2 RNOOD




